BREEHRFOMSERERR GHHRINTOEXENSNDA)

RERE  FR28ELR1H (£

) ~FER28F4830H (1)

1/3

(B4 : A 9l/kg)

=1 - o BREH X ERERRE| . R E
== AF3U mBE FREH (4g) | BIA134 (by9h134) 994137 (1994137
(EES 7IoF SBRERRAT 19H(CN) [ A& 12.4 | ~1&E 9.5
A EES 7IoF BUmZEmE/l [ 1280 FEH 8.3 | A& 6.9
e EEES 7IoF BILUHZEERE [ 12BN IEE 7.6 | A&H 6.2
EES FrRY 8L Z A5 T 8H(&)| A&l 9.4 | A~ %&H 7.8
RESES x5 F+ BT Z1EE] 15H(&)| A% 9.8 | A&H 8.1
6 |FE x5 F+ BLUBHEXILEIER [ 15H(&)| AM&H 6.6 | A&EH 5.8
[ EES JX5FF BB LLITh EERET 26H(N) [ A& 7.9 | A& 6.8
EES oF5FF (@) |BLUHHE/ & 30H ()] A i&HE 8.5 | A& 6.8
CIEES PEEES BILUThZERIRE [ 2060K)] A& 12.6 | ~&HE 10.0
IEES v A1 E BB LI T AT TH(R)| A igE 9.4 | A &H 7.6
(EES (Z0) ELTHHNE E7E [ 28H(R)[ A i&H 9.2 | A%&H 8.1
(G ES (Z0) HA™ 2THK) [ A& H 12.4 | A%E 10.0
13 |83 43 8L = HET 145 (K)| AH&H 6.6 | A&EH 5.4
(EES —> EIGEZE 13H0K)] A i&HE 11.3 | ~&HE 9.2
(FEES —> B LT FAHBIRER [ 25H ()] A™M&EH 5.7 | A& 4.7
16 [FE m"oLYVY  |BIUHEALLE] 26H (N[ A& 8.0 | A& 6.7
17 |89 KoLV D REEEL) A 26H(CN)| A1&EH 1.4 | A&H 9.0
FEES =IN E=E ST 2Q1H(R)[ A& 11.6 | ~&H 9.4
EEES EXxF¥ BLUHHENEEE [26BC0] &L 8.9 | A& 7.2
20 [k ek mEk®m) |HEBEK HBLUFAHITSSE |[158&E)] f8f 4.4 | EH 3.6
21 - FDQZFE[OF ANBEE LIAT 26H(H)| A& 10.6 | ~&HE 8.7
22 | -FQZFE[OF 8L 26H (N[ A& 10.9 | ~&HE 9.2
23 [ -FQZFE[OF ELHAHIT=8TH | 5H(N)|] R~&EH 9.2 | ~%&H 7.6
A NEREDLRE AP A8 =FH] 26H(CN)| A1&EH 9.8 | A1&EH 8.4
25 [ILE-F0cFE[DILT G D ZSES:] 12BN R&H 8.9 | A& 8.0
TEINERERMAEERS RGN 158 ()| A%&H 8.4 | A& 7.4
NEINERERMAEERS WHhE Q80 (KR)| A& 9.7 | A& 8.3
28 [IZ-=ncE|33= BERSE LLIET 26H(B)| A%&H 11.9 | A& 10.2
EINERERMAEERS = ENNER] 25H ()| A& 12.9 | F%E 10.6
30 [l -FcfE |03 EBIUmZEBIE] | 218(R)] AMEH 7.8 | A& 6.5
31 [l -FcfE|03= 8L 2 E T Q85 (KR)| A& 11.8 | A& 10.1
P NERERRH AEER BB LU AT 28H(KR)| A& 8.7 | A& 7.5
33 [LE-FncFE[23= 8L mh = FHET 26H(B)| A%&H 12.5 | A& 10.1
ENERERH AEER EBILUTHFAAEBIAH [ 28(R)] ~M&EH 11.0 | A& 9.4
ENERERRH AEER a8l 25H(B)| A& 10.2 | A%&H 8.5
AERE R EEE HA™ 21B0K)| A% HE 6.2 | ~&H 6.6
INERERRH AEER =iRE 28H(KR)| A& 1.7 | A& 10.1
38 [E:-Fn2FE[TI= K= 206 (K) [ A& 11.6 29.3 8.3
39 [EF-=02E|[2VF7TS SEMA 28H(K)| A& 12.9 79.3 10.3
MENERERR 1 EPE TEBAEN 248 (8) 73.1 13.4 318.5 9.5
NINERER 1 EP A Al EB~FH 28H (K) 68.0 12.5 345.7 9.5
IYINERERE 1 EP A LR EERT A% | 30H (L) 34.1 10.3 116.9 7.1
EENERER 1 EP A 8L SR FHET 30H (1) 22.1 10.8 96.7 7.5
MENERER 1 EPE a8)lm 228 (&) 278.3 1.3 1373.2 9.3
45 [IEE-FQ2FE|(OV7TS HA™ 298 (£)]  274.0 7.4 | 1278.8 7.0
46 (- FQCFE|(TVF7TS HA™ 28H(K)| A& 13.4 11.0 11.1
NENERER R APEELS BB A~ HT 13H (k) 90.0 14,2 374.7 9.5
NERERRM APEELS ESLThFaAE =815 | 5H(KN) 12.5 7.6 54.2 5.1
NERERM APEEL BLTHAHITS%E [2180KR) 28.5 7.1 97.1 5.2
50 [IZE:-ZFDZE[V157 HA™ 5HON)] A igHE 9.2 15.3 7.4
51 [z - EDZHE[V157 SRR R R ] 25H(B)] ~%HE 10.9 [ 32.8 7.7
I NERE R A PR AoBERE | LIBT 26H (N[ A& 8.0 | ~&&H 7.1
S NERERR A EPEE EBIUHENBEIER [ 27H0K)] MEH 11.1 85.5 9.9
5, [ -=ncFE[FF /2 WhEth 25H(8) 33.8 4.2 154.5 3.1
5 [IUZE-=DnCE (75 /3 WhEM 26H(N)| A&EH 7.5 | A%&H 6.3
56 [LIEE-=ncFE[FF /3 8L 21HOK) | A& 7.7 31.6 6.2
57 [LE -2 [FF /3 8L 27H(K) 79.6 8.1 359.0 6.1
58 [LE-=ncfE[FF /3 LU 28H (R) 74.3 8.1 340.2 6.2
5 [LE-Fn2fE[FF /3 LU 26H(CN)[ A& 7.8 7.2 7.2
60 [IZ-=FDCFE [~/ L LIh Z 150 2H(£)| A& 6.5 | ~%&H 4.6
FINERERM A= EBIJ.IHE%?JT‘EEI 25H(B)| A& 9.7 | A~%&HE 8.6
YINERER M AELPE BB 1ER 26H(CN)[ A& 7.7 | ~%&HE 6.7
FEINERERM AELPE BT =ZiER] 28H(KR)| A& 5.4 | A&HE 4.7
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BREEHRFOMSERERR GHHRINTOEXENSNDA) 2/3

REHE  FR8FLB1H (£) ~Fr28F4H30H (1) (BAQT @ A" 9LIb/kg)
B — o BREH X ERERRE| . R E
== AF3U mBE FREH (4g) | BIA134 (by9h134) 994137 (1994137
TNERER L= BUmZzEiE/l [258(8)] A &E 6.6 | A&H 5.8
FNERER L= BLUFZEERE |[2080K)|] ~&E 8.7 26.7 6.6
66 [ =D |[¥T /3 LT ESE 25H(BA)| A& 10.5 | A% HE 8.2
FENERER 1P EBLL A 19HCN) [ A i&HE 9.6 | A&H 7.8
FNERERR L= EBLLI 7 AT 206 (K) [ A& 10.6 | A% E 8.5
69 [T ([¥7 /3 ERLLTHAMBTEMCH [ 26H (N[ R i&HE 6.8 | A& 5.7
70 lIE-FD0cHE [T/ 3 BILUHENEFIL [258(B)] &L 10.2 | ~&H 9.0
NERERR L= 2B LI FE BT 28H(R)| A& 6.0 27.9 4.3
72 [IE-FD0E [T/ 3 2B LI FE BT 25H(A)| A& 7.5 | A %&H 6.3
73 IIE-FDE [T/ 3 EBLUHrAAHERE [ 258(B)] &L 7.3 | A%&H 6.0
INERERR L= EBLUTHFAAHIIRE [ 288K &L 5.6 | A& 4.7
7 E-FTDCFE (YO 81 LIt PR BT AH 2H(E)| A~MEE 6.3 | A1&EH 5.4
76 [IIE:-FDcE (¥ /3 ELLUTHFAHBTAH [ 26H(X) 14.8 4.7 80.5 6.4
7 E-TDCFE (¥ /3 £8P BT AH 26H(CN)| A1&EH 7.2 20.8 6.0
78 [IIE:-FDcE (7 ./3 ELLUTHFAHBTAH [ 27H (k) 23.2 5.7 99.2 A
79 IIE:-F0HE [T/ 3 ERLTHFAAHETRER [ 18H(B)] Ai&HE 7.6 | A &H 6.2
INERERR L= 3L LT PR BTS2 H | 20H (9K) 12.5 8.6 54.9 6.8
81 |lIEE-TDCFE|(F¥F /O EILmPAHEHBIEERH | 21H(KR)| AM&H 10.0 | 1&H 7.9
82 [IIE:-FncHE|[¥7 /3 S| LT PR BTS2 | 25H(B) 14.0 6.9 64.6 5.2
83 [EZ-Fn2FE[FFT /3 B LU FAHBIRAER [ 25H(B)] A™M&EH 4.8 19.0 4.0
84 [ -Fn2FE[FFT /3 B LT FAHBIRAER [ 25H(B)] AM&EH 5.4 23.5 3.9
85 [LEE-Fn2FE[FFT /3 BRI LT FAEHBTRAE [ 26H(N)| AM&H 7.7 A& 6.9
86 [ZR-FnFE[FFT /3 BRI LT FAEHBIRAEH | 28H (K)| AM&H 6.3 40.0 4.6
87 [lIZE-FnCcHE([¥F7 /3 B LThFaAET =8 F | 308 (%) 12.3 7.3 66.0 5.2
FNERERR L= LT FAHET=KTH [ 25B(B)| A~&HE 5.3 19.8 5.3
ENERERR L= LT FAHET=BTH [ 26BN | K& E 6.5 | ~&H 5.5
90 [E-Fn2FE[FFT./3 HLUTAHITSSE 2680 R@H 6.1 | A~1&H 5.0
RNERERR L= LT FAHETEM [ 2080K)] RA&E 9.2 | A~%&H 7.2
92 [IE-FncE [T/ 3 ELTHAAEHITEM [ 26800 K& E 8.0 | A& 7.2
ENERERR L= ELHAHIT M [ 27H0K)] R~ &E 9.2 | ~&H 7.5
9% [IE-FQ2FE|(F7 /D LT FAAHTIREARE [ 25B(B)| ~&@HE 10.8 | ~&HE 8.3
% [IE-FQ2FE[(F¥7 /D B L HAAET R | 228 ()] A~M&EH 6.3 | ~&H A
9% [IEE-Fn2fE[FFT./3 ELmEMEENATB| 18H(B)| A&EH 7.3 28.7 5.2
97 [IZE-FQ2FE [T/ B L= A LLH] 25H(8) 25.0 12.4 102.7 8.1
98 [IIE-FD2FE[(F¥7 /D B L= X LLE] 25H(B)| A& 7.7 | ~%&H 7.1
9 [IE-FQ2FE[(F¥7 /D BLUHmEXALLATRER [ 295 (£) 26.9 7.0 126.4 7.0
100 (I - i |7/ BLUHEAILETREER [ 158 ()] A& 13.0 | ~&HE 10.0
101 [IIEE - [F7 /D BLUAEALENLA] 228(&)] ~EE 6.3 | ~&H 5.3
102 [ - EncFE |7/ BLUAEALETNLA] 278 0K | REE 8.6 | A& 7.0
103 [ -EncFE (7 /3 BT ZEARET 26H (N[ A& 6.4 | A&H 5.1
1046 [IIEE-ECFE (7 /D BB LLITh EERET 268 (N) 14.6 8.3 57.8 6.5
105 [ - EncFE |7/ BB LLITh EERET 25H(B)| A& 8.4 4.2 6.3
106 |2 - [(F7 /D BT ZEARET 26H (N[ A& 6.9 | ~&H 6.1
107 [ -FncFE[F7 /D BB LLITh EERET 26H (N[ A& 5.8 17.6 5.0
108 [l - =[5 /3 HAN A =ZH] 23H (D) ~%HE 5.2 23.8 4.8
109 [ -2 [F5 /3 HAN A =ZH] 25H(8) 12.6 8.1 59.3 5.3
110 [l - =02 [F5 /3 HAN A =ZH] 26H (N[ A& 6.8 | ~&H 5.2
M [E-=02fE[F5 /3 HAN A =ZH] 25H(B)| A& 10.5 29.7 9.5
112 [ - =0 cfE[F5 /3 HA™ 28H(K)| A& 4.7 A &HE 3.9
113 [ - =0 cfE[F5 /3 —AWTH 200K [ A& 5.0 20.5 3.5
M4 [ - =02 [F5 /3 —AWTH 18H(B)| A~ &HE 10.8 | ~&HE 9.8
115 [l - =02 [F5 /3 —AWTH 2H(®)| A% 7.9 | A~%&H 7.3
116 [l - =02 [F5 /3 ROJEFEE [2780K)]| R &E 5.9 | A~ &H 4.9
M7 [ -=02fE[F5 /3 BE™ 28H(K)| ~%&HE 6.5 | ~&H 5.4
118 [ -2 [F5 /3 BE™ 28H(K)| A& 9.4 15.9 7.5
119 [ - =02 [F5 /3 BE™ 28H(K)| ~%&HE 10.0 | ~&E 7.4
120 [l - =2 [F5 /3 BE™ 28H(KR)| A& 9.5 12.9 7.5
121 [ -EncfE[F5 /3 A= QH(R)[ A& 9.0 | A~%&H 7.3
122 [ - =D (77 /3 Ktk [WbhEm 2Q1H(K)| A 9.4 | ~gH 7.2
123 I - E0HE |97 /3 Ktk BB 2y el 23H ()] A&HE 8.9 141 7.2
124 I - EcH |97 /3 (KR |BRILT R 8] 21H(K) [ A& 13.1 | A~ &HE 10.1
125 [« =D CH (9773 (Ktk) BB PaEE] 26H(CN)[ A& 5.6 | A~&HE 4.8
126 [IIE - =0 q |57 /3 Ktk |BSILT A0 EE] 19H (N) 35.8 6.4 180.4 4.8
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BRHEETESFOMMEREER CGHHEXZDEXEHNSDNDA) 3/3
REHM - FR28FELB1H () ~FR28FL830H (1) (BAQT @ A" 9LIb/kg)
=1 — = o BREH X ERERRE| . R E
== AF3U mBE FREH (4g) | BIA134 (b99A1 34 994137 (1994137
127 (I - =D [v7 /3 Ktk |BE]H 26H(H)| A& 5.3 53.7 5.3
128 (32« EDCEE (97 /3 (KHkR) |BNE=&8] 25H(BA)| A& 7.7 15.1 6.5
129 [IIZE - EDCHE [97 /30 Ktk |[BBE 30H (%) 18.4 7.3 59.5 4.8
130 (=D CEE (457 /3 (Zn) |TEEPAEN 29H (&) ~%HE 4.9 6.4 4.3
131 [l -=0cE |45 /3 (@) [BlLm 26H (N[ A& 10.1 | ~&E 8.3
132 [ -=0cE (457 /3 (&) |BlUmte /& 30H ()] A i&HE 8.3 | A& 6.5
133 [l -=0cE |45 /3 (@) [BlLmBEEE 28H(K)| A&H 7.1 [ A& 6.0
13¢ IR -F02FE(F7 /3 (Gn) |BSLUTmHEETAIME | 30H(L)| &L 9.1 | A %&H 6.9
135 IR -FcE |7 /3 (Zn) | FAHEETRER | 25H((B) 8.8 6.0 21.4 5.1
136 | -F02FE(F7 /3 (Gn) |BUHRAEAEETAR | 25HB)| A& 4.6 19.3 3.5
137 ILE--=0cfE (¥4 /3 (zn) |[BRlUmEALLHET 26H(N)| A& 8.1 10.5 6.5
138 (LU - =D [H4 /3 (Zn) |BIUTEXILETREER [ 21H (K) 10.7 9.5 41.0 6.6
139 [ILE -0 (¥4 /0 (z7n) [BE]llm 29H ()| A%&HE 7.0 | A& 5.8
140 [l -=0cFE |45 /3 (@) |[Z&HRm 2TH K[ A& H 6.2 30.4 4.2
W [ -=0cE[F57 /3 @) [AEm 28H(R)| A& 7.3 | A%&H 6.4
142 (- EDCFE[FS /X EZAm 30H ()] A i&HE 9.0 | A& 7.7
143 (- EDCFE[FS /X L LT Zh B H] 215 (K) 9.8 8.1 29.0 5.8
144 [IIE-EDCFE[(FS /X ELUTHNETESR [ 258H(B)] A&E 11.3 | ~1&HE 9.6
145 (- EDCFE[(FS /X LU HEETRE | 20H0K) 24.3 9.7 125.0 7.4
146 IR -=DCFE[¥S /X B/ A 158 ()| A%&H 9.2 | A& 7.9
147 [ - EDCHE (S5 /X LU E A LLE] 25H ()| A& 9.4 | A &H 8.1
IEENEREIRAAEEPES LS AILETRAEA]| 25H (H)| A &H 1.1 | % 9.4
149 [ - EDCHE[(FS5/ X a8)llm 228 (&) 32.6 10.1 181.3 7.4
150 (32 =DCE[(FS5/ X a8)lm 25H ()| A& 12.6 | ~%E 10.6
151 [ILIE-=DCFE[¥S5 /X HANE=FH] 238 ()| A%HE 12.9 24.9 11.0
152 [IZE - EDCE (5 / X HA™ 298 (£) 19.4 6.8 74.3 4.7
153 [z - EDCE[(FS5 /X HA™ 26H (N[ A& 12.8 | A%E 11.2
15 [ -=DCFE[¥S5 /X BEM L5 25H(B)| A%H 12.2 39.8 7.9
155 [ -EDCFE([FS/ X =iRE 28H(R)| A& 12.8 51.9 9.0
156 [ =D (5 / X ERmER A | T 28H (R) 11.2 11.4 32.5 7.5
157 [l - =0 cFE |7+ ERILHANBTECH [ 26H (N[ A i&HE 9.8 | A~&H 8.7
158 [ =D CE |[ESTIAY BILUhEERTAE [308(1)] AMEHE 10.5 | ~&HE 8.8
159 [ EDCHE |[ESIAY EB LT T 30H ()] A &HE 11.2 | ~&HE 9.3
160 [ =D CFE [T E (F) 8L 13H0K)] A &HE 11.2 | ~&HE 9.0
161 [ =2 [T E (F) ESLL T A ] TH(R)| A~ &HE 11.5 | ~&HE 9.6
162 [l - =D [DUSE WHEM 26H(N)| A& 10.1 | AH&H 8.9
163 [LIEE- =D [USE EILUTHFAEBIARH [ 2080K)] AM&EH 12.2 | ~1&HE 10.2
164 - =D |[TUSE BLHmEXALETE/NE| 21H () 11.3 9.3 30.6 6.6
165 [LEE- =i |[U5E HA™ 2THK) [ A& 7.6 | A~&H 6.3
166 |- =D [TUSE HA™ 2THK) [ A& 7.9 | A~%&H 6.4
167 [LIEE- =D [TUSE K= 28H(K)| A& 7.8 | A~%&H 6.7
168 |- T ([75F (KtkR) [ZZEBBAEHR 2THK) [ A& 9.0 | A~%&H 7.0
169 [l - =0 [75E (Ktik) [ERLLT-RHET Q80 (KR)|[ A& 11.6 | A& 9.0
170 [BNE 17F EHERIEE R TH(R)| A~ i&HE 12.4 | ~1&HE 10.0
171 [BNE X SRR L] TH(KR)| " &H 11.0 | ~&E 9.0
172 |[Z0f S/ (k&) |SREFRFAN 19HCN)| R~ &HE 9.3 | A&H 7.1
173 |[Z0fik IEF (Zn) BLUHEALEIREER | 7TH(R)| ~MEH 12.4 | ~1&HE 9.6
174 [Z0fb A2 BB A~ HT 21HOK) | A& 7.4 37.8 6.3
175 [Z0fib K4 SRRERFRA 19HCN)| R~ &HE 7.1 | ~%&H 6.2
176 [H2TEEX XK (%K) BEE TH(R)| A~ &HE 6.1 | ~=&H 5.1
177 [HTEEXR X (BX) KEBEPEEER [27B0KN]| R@HE 8.6 | A& 7.0
178 [H2TEEX X (BX) 8L 21HOK) | A& 5.5 | A~ #&H 4.6
179 [H27TEFEEX X (BX) BLUAEALENALA] 228(&)] ~&@E 8.7 | A~%&H 7.2
180 [H27TEFEX X (BX) A= 25H(B)| A& 6.5 | ~&H 5.7
181 [H27TEEXR X (BX) A= 28H(K)| A& 8.2 | A~%&H 6.8
182 [H26ZFEDARIEXK [K (3K) SRRERFRA 19HCN)|[ R~ &HE 5.1 | A~ %&H 4.1
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